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planning will help to a great extent.

Site selection for a plant is an important activity for any project :

Careful considerations of various factors keeping in view the corporate objectives are required for
any company. Such considerations will finally make the plant economically and technologically
viable and it will contribute to the environment. Strategic, long-term, and non-repetitive sound
decisions are required. During the final decision-making, a certain degree of imaginative future
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location comes with the following major problems:

Any mistake during the selection of an appropriate location can be costly. Improper
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A higher cost means higher investment.

Difficult marketing and transportation.

Dissatisfied and frustrated employees and consumers
Low availability of high-caliber professionals.
*Frequent interruptions of production and
«Abnormal wastage.
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What are the factors for Site Selection? | ¢ ddsall JLid) o 3 isall Jal ) 4 La

 Transportation Facilities: | Jt Jiluy
Proper transportation facilities linking with ports and railroads are crucial for the uninterrupted
transfer of raw materials and end products. Airport-Connection is important for the easy movement
of professionals. In case, foreign collaborations are involved in the plant, these points will be more
crucial.

* Availability of Manpower:
Local access to skilled and semi-skilled manpower will add to the efficient construction and
operation of the plant.

o Industrial Infrastructure: | 4stiall ddasl) 44y

Sufficient Industrial infrastructure will aid all supporting services required for the successful
operation, maintenance, and repair of various machines and other items, availability of workshops,
plant services, etc. that may not be feasible to be generated within the factory premises. The
availability of communication facilities plays an important part in the infrastructure. Existing
vibrant infrastructure in the vicinity is much preferred than the need-based infrastructure getting
developed after the plant commissioning.
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« Community Infrastructure: | 4slaia¥)dmadl) 44
As all the plants of modern times operate on sophisticated technology, it would be necessary to
attract qualified professionals. This means, ensuring a good quality of living is a must. The
availability of good schools and colleges, medical services, good communication facilities, cultural
and recreational opportunities, etc will be required. Attracting qualified professionals will be very
difficult in the absence of good community infrastructure.

* Availability of Raw Water: | alill sluall jd s
The plant should be located in close proximity to an adequate quantity of water sources. Water will
be required for plant operation and other non-plant activities. As the groundwater may be depleted
at a future date, drawing the water by boring deep tube wells without the provision of a perennial
source is not recommended. The Natural Water Table and flooding history need to be duly
considered.

« Effluent Disposal: | =54l <y
The drainage facility for the Effluent disposal must be examined. It would be economic if
an effluent disposal facility after treatment is readily available. Otherwise, there may be
legal and ecological consequences in transporting the effluent by drainage to a safe
disposal area that far away.




- Size and Nature of the Site for Selection: | &8sl 4aphyaza
The plot area, the topography, the township facilities, and future expansions should meet the plant
requirements. It is preferred if the grade level of the entire area is the same. In case, the plot area is
not flat, it must be leveled to suit the plant’s requirements. The degree of required leveling and
filling should be looked into from economic considerations.

« Ecology and Pollution: | &l g 4l
Nowadays, there is a great deal of awareness of the maintenance of natural ecological balance.
Regarding the effect of pollution from specific types of plants, social obligations are to be met. The
nature of the site selected should preferably have some advantages to meet these requirements.




Methods for suggestions project sits evaluation:

1- Transportation Method : Transportation problem is a special case of linear programming which aims
to minimize the transportation cost to supply goods from various sources to different destinations,
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while satisfying the supply limit and demand requirement.
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Methods to find basic feasible solution: | ¢Sl eubad) dadl say) @)k

An initial basic feasible solution to a transportation problem
can be found by any one of the following methods:

(i) North West Corner Rule

(i1) Least Cost Method or Matrix Minima method

(ii1) Vogel's Approximation Method (VAM)

(i) North West Corner Rule C..FU;"“ Ql“*ﬂ‘ OS ) Bacld
1. Balance the transportation problem if not originally by adding a dummy
source or destination making ™, a, = >7_, b;,with zero transportation
cost 1 added cells.

Start with the cell in the upper left hand corner which 1s north west comer
(1.1) and allocate the maximum possible amount x;; = Min (ay, by) in the
cell (i. j). such that either the availability of the source S; is exhausted or the
requirement at destination Dj; 1s satisfied or both.

Adjust supply and demand across the row and column i which allocation
x;; has been made.
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4. Move to right hand cell (1.2) if there 1s still any available quantity left
otherwise move down to cell (2.1).

5. Continue the procedure until all the available quantity 1s exhausted.
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Ex1: Obtain an initial basic feasible solution to the following transportation
problem by North West Corner rule.

Destination
D1 D2 D3 D4 Supply
Sources

S1 4 1 3 20

S2 7 1 3 12

S3 2 4 12

44
Demand 16 7 11 10
44
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Solution by North West Corner Rule: | :sv )l (Nlowidl S)Jl 629 plasiawl J=xJI O
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